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Solve each quadratic Graphically. '
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Solve each quadratic equation by Factoring:
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Solve each quadratic equation by Square Roots:
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Solve each quodraﬁclequo’rion by Completing the Square:
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Solve each quadratic equation by the ‘Quadratic Formulal 4 W}S& Ve = Q
@ 12,7+ 3x+1=0 13. 2x% - 28x - ﬁ ’
4=l y=5 (=1 1 472 b=-28 (=4

| 7% -18%H=0
~2E -4l = :
> i/jaé&)ulﬁ 29+ {0, 28*‘4@-” ﬁ@%s}

2

14 After t seconds, a ball tossed in the air from the ground level reaches G height
h feet given by the equation h{t 1B 168 1441

a. What is the height of the ball at 3 sec cond? h(3 (3144 (2)=\8p
b, Find the number of seconds the Y}Giiiq% 4(1% hez z’ré;ag,he{f a m;%h g)f 1 veach
224 feet. 20h = 16t + 144t -4k ) AV R e d . The bal

"%ﬁm iﬁﬁéﬁ ” fﬁﬁ 24 "No o % 070 M at @&a;ag)ﬁ
fove o =9 1l
%{i{k{m& c. Alter h{gw maony S@COY‘%ggF will the %{}Ei hit the gmu E:x:wr Qﬁ{i 140 &
Loy 09 O=-16f"+144f o + -0 ; v
i ol Wk ST 2 Q}f\g} +-0=0 %@e AR %W@

GOF /&/ P rggﬂ& at A geconds
[ 4 == 4+=9

15, AT0CK ’ift’f}[}[}@ﬂ from the top of a tall building, 382 feet high. The path, in feet,
is given by i‘“}{ﬂ 1687 4382 . How long after the rock is thrown is it on the
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14.The length of arectangle is 5 cm more than the width, The arec is 50 o, Find
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17.The dimensions of a rectangul r;x garden were 2 m by 4 m. Each dimension was
increased by the same amount. The garden then had an area of 48 m2 Find the
dimensions of the new garden. [Hint: Let x be the amount of increase. }
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Graph the following equation. Then, write the chorac’rens‘rlcs for the groph

18.y =2(x+1) =5
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Describe the transformations to the parent function in the given equations.
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Solve using any method.
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Change the equations 3() standard form.
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Change the equations to vertex form,
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An object is projected into the air with o path described by the function
h{t) = ~16f° +96f +160 where his the height above the

""" e ground in feet and is the time In
seconds since the object started along the path,
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13.Find the 1 mmmn{eu changes direction,
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14. Find the maximum height b of the object, f%f%f%z Wﬁg
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The height, in meters, of a ball as it folis at a given time (x}, in seconds, can be found *
using the equation f{x) = -4x” + 36.
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17. When does the ball hit the ground?
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